Equivalent Measurements |

word Problems with Conversions
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Liza's cat had six kittens. When Liza and her brother weighed a||
a

the kittens together, they weighed 4 pounds 2 ounces. Since a|
the kittens are about the same size, about how many ounces

B . doeseach kitte ich? ' ;
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2. Acontainer of oregano is 17 pounds heavier than a container of -
peppercorns. Their total weight is 253 pounds. The
peppercorns will be sold in one-ounce bags. How many bags of ‘

peppercorns can be made?
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" much yellow ribbon. What is the total length of ribbon needed
for 64 costumes? Express your answer in meters.
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4, When making a batch of orange juice, Jackie used 5 times as

= much water as concentrate. There were 32 more cups of water

r than concentrate. How much juice did she make in all? If she
pours the juice into quart containers, how many could she fill?
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